# CERTAIN IDENTITIES ASSOCIATED WITH GENERALIZED HYPERGEOMETRIC SERIES AND BINOMIAL COEFFICIENTS

KEUMSIK LEE, YOUNG JOON CHO, AND JUNESANG CHOI

ABSTRACT. The main object of this paper is to present a transformation formula for a finite series involving  $_3F_2$  and some identities associated with the binomial coefficients by making use of the theory of Legendre polynomials  $P_n(x)$  and some summation theorems for hypergeometric functions  $_pF_q$ . Some integral formulas are also considered.

## 1. Introduction and Preliminaries

There have been many transformation formulas for the generalized hypergeometric function  $_pF_q$  (cf. Bailey [1], Whipple [6]) with p numerator and q denominator parameters defined by

(1.1) 
$${}_{p}F_{q}\begin{bmatrix}\alpha_{1}, \cdots, \alpha_{p}; \\ \beta_{1}, \cdots, \beta_{q}; \end{bmatrix} = {}_{p}F_{q}(\alpha_{1}, \cdots, \alpha_{p}; \beta_{1}, \cdots, \beta_{q}; z)$$
$$= \sum_{n=0}^{\infty} \frac{(\alpha_{1})_{n} \cdots (\alpha_{p})_{n}}{(\beta_{1})_{n} \cdots (\beta_{q})_{n}} \frac{z^{n}}{n!},$$

where  $(\alpha)_n$  denotes the Pochhammer symbol (or the shifted factorial) defined by

(1.2) 
$$\alpha_n := \begin{cases} 1 & (n=0) \\ \alpha(\alpha+1)\cdots(\alpha+n-1) & (n \in \mathbb{N} := \{1, 2, 3, \cdots \}), \end{cases}$$

which can also be rewritten in the form:

(1.3) 
$$(\alpha)_n = \frac{\Gamma(\alpha + n)}{\Gamma(\alpha)} \quad (n \in \mathbb{N}_0 := \mathbb{N} \cup \{0\}),$$

Received by the editors April 4, 2001.

 $<sup>2000\ \</sup>textit{Mathematics Subject Classification}.\ \textit{Primary 33C20}, \ \textit{Secondary 33C60}.$ 

Key words and phrases. Hypergeometric function, Transformation formula, Gamma and Beta functions, Legendre polynomial, Gauss's and Saalschütz's summation theorems, Leibniz's rule.

 $\Gamma$  being the well-known Gamma function whose Euler's integral is, among several equivalent forms, given by

(1.4) 
$$\Gamma(z) = \int_0^\infty e^{-t} t^{z-1} dt \quad (\Re(z) > 0),$$

which is often called the second Eulerian integral, whereas the familiar Beta function  $B(\alpha, \beta)$  defined by

(1.5) 
$$B(\alpha, \beta) = \int_0^1 t^{\alpha - 1} (1 - t)^{\beta - 1} dt \quad (\Re(\alpha) > 0; \Re(\beta) > 0)$$

is often referred to as the first Eulerian integral.

There is a well-known relationship between the first and second Eulerian integrals:

(1.6) 
$$B(\alpha, \beta) = \frac{\Gamma(\alpha) \Gamma(\beta)}{\Gamma(\alpha + \beta)}.$$

The binomial coefficient, in view of (1.2), may be expressed as

(1.7) 
$$\binom{\alpha}{n} = \frac{\alpha(\alpha-1)\cdots(\alpha-n+1)}{n!} = \frac{(-1)^n(-\alpha)_n}{n!}$$

or, equivalently, as

(1.8) 
$$\binom{\alpha}{n} = \frac{\Gamma(\alpha+1)}{n! \, \Gamma(\alpha-n+1)}.$$

It follows from (1.7) and (1.8) that

(1.9) 
$$\frac{\Gamma(\alpha+1)}{\Gamma(\alpha-n+1)} = (-1)^n (-\alpha)_n,$$

which, for  $\alpha = \beta - 1$ , yields

(1.10) 
$$\frac{\Gamma(\beta-n)}{\Gamma(\beta)} = \frac{(-1)^n}{(1-\beta)_n} \quad (\beta \neq 0, \pm 1, \pm 2, \cdots).$$

Equations (1.3) and (1.10) suggest the definition (cf. Srivastava and Manocha [5, p. 22]):

(1.11) 
$$(\beta)_{-n} = \frac{(-1)^n}{(1-\beta)_n} \quad (n \in \mathbb{N}; \ \beta \neq 0, \pm 1, \pm 2, \cdots).$$

Equation (1.3) also yields

$$(1.12) \qquad (\alpha)_{m+n} = (\alpha)_m (\alpha + m)_n,$$

which, in conjunction with (1.11), gives

(1.13) 
$$(\alpha)_{n-k} = \frac{(-1)^k (\alpha)_n}{(1-\alpha-n)_k} \quad (n, k \in \mathbb{N}_0; 0 \le k \le n).$$

For  $\alpha = 1$ , we have

$$(1.14) (n-k)! = \frac{(-1)^k n!}{(-n)_k} (n, k \in \mathbb{N}_0; 0 \le k \le n).$$

In view of the definition (1.2), it is not difficult to show that

$$(1.15) \qquad (\alpha)_{2n} = 2^{2n} \left(\frac{1}{2}\alpha\right)_n \left(\frac{1}{2}\alpha + \frac{1}{2}\right)_n \quad (n \in \mathbb{N}_0),$$

which follows also from Legendre's duplication formula for the Gamma function:

(1.16) 
$$\sqrt{\pi} \Gamma(2z) = 2^{2z-1} \Gamma(z) \Gamma\left(z + \frac{1}{2}\right) \quad \left(z \neq 0, -\frac{1}{2}, -1, -\frac{3}{2}, \cdots\right).$$

The Legendre polynomial  $P_n(x)$  is defined by the generating function

(1.17) 
$$(1 - 2xt + t^2)^{-\frac{1}{2}} = \sum_{n=0}^{\infty} P_n(x) t^n,$$

in which  $(1 - 2xt + t^2)^{-\frac{1}{2}}$  denotes the particular branch which converges to 1 as  $t \to 0$ . It is easy to get from (1.17) that

(1.18) 
$$P_n(x) = \sum_{k=0}^{\lfloor n/2 \rfloor} \frac{(-1)^k \left(\frac{1}{2}\right)_{n-k} (2x)^{n-2k}}{k! (n-2k)!},$$

from which it follows that  $P_n(x)$  is a polynomial of degree precisely n in x.

Here we aim at giving a transformation formula for a finite series involving  ${}_{3}F_{2}$  and some identities associated with the binomial coefficients by making main use of the theory of Legendre polynomials  $P_{n}(x)$  and some summation theorems for the hypergeometric functions  ${}_{p}F_{q}$ . Some integral formulas are also considered.

#### 2. A Transformation Formula

Consider the following integral (cf. Poole [2]):

(2.1) 
$$I := \int_{-1}^{1} (1+x)^{m+n} P_m(x) P_n(x) dx,$$

where  $P_n(x)$  denotes the Legendre polynomial defined by (1.17). By substituting the Rodrigues' formula for  $P_n(x)$  (cf. Rainville [3, p. 162]):

(2.2) 
$$P_n(x) = \frac{1}{2^n n!} D_x^n \left[ (x-1)^n (x+1)^n \right] \qquad \left( D_x := \frac{d}{dx} \right)$$

for the integrand in (2.1) and letting x = 2y - 1 in the resulting equation, we obtain

(2.3) 
$$I = \frac{2^{m+n+1}}{m! \, n!} \, J,$$

where, for convenience,

$$(2.4) J := \int_0^1 y^{m+n} \left\{ D_y^n (y-1)^n y^n \right\} \left\{ D_y^m (y-1)^m y^m \right\} dy \left( D_y := \frac{d}{dy} \right).$$

Integrating m times by parts in (2.4), we have

(2.5) 
$$J = \int_0^1 y^m (1-y)^m D_y^m \{y^{m+n} D_y^n (y-1)^n y^n\} dy.$$

Applying Leibniz's rule for differentiation to the integrand in (2.4), we obtain

$$J = (-1)^{m+n} m! n! \sum_{k=0}^{m} (-1)^k \binom{m}{k}^2 \sum_{j=0}^{n} (-1)^j \binom{n}{j}^2 \int_0^1 y^{m+n+k+j} (1-y)^{m+n-k-j} dy,$$

which, upon considering (1.5) and (1.6) for the integral, yields

(2.6) 
$$J = (-1)^{m+n} m! n! \cdot \sum_{k=0}^{m} (-1)^k {m \choose k}^2 \sum_{j=0}^{n} (-1)^j {n \choose j}^2 \frac{(m+n+k+j)! (m+n-k-j)!}{(2m+2n+1)!}.$$

By making use of (1.7) through (1.15), we readily obtain

(2.7) 
$$J = \frac{(-1)^{m+n} m! \, n! \, (1)_{m+n}}{2^{2(m+n)} \left(\frac{3}{2}\right)_{m+n}} \cdot \sum_{k=0}^{m} {m \choose k}^2 \frac{(m+n+1)_k}{(-m-n)_k} \, {}_{3}F_{2} \begin{bmatrix} -n, -n, m+n+k+1; \\ 1, k-m-n; \end{bmatrix}.$$

On the other hand, by first applying Leibniz's rule to the innermost differentiation of the integrand in (2.5), we get

$$J = n! \int_0^1 y^m (1-y)^m \sum_{j=0}^n \binom{n}{j}^2 \left\{ D_y^m (y-1)^{m+2n-j} y^j \right\} dy,$$

which, upon appealing again the Leibniz's rule to the integrand, gives

(2.8) 
$$J = n! \sum_{j=0}^{n} {n \choose j}^{2} \sum_{k=0}^{m} (-1)^{j-k} {m \choose k} \frac{(m+2n-j)!}{(2n+k-j)!} \frac{j!}{(j-k)!} \cdot \int_{0}^{1} (1-y)^{m+j-k} y^{m+2n+k-j} dy.$$

If we employ (1.5) and (1.6) for the integral in (2.8), similarly as in getting (2.7), we find that

(2.9) 
$$J = \frac{m! \, n! \, (1+2n)_m \, (1+m+n)_n}{2^{2(m+n)} \, (\frac{3}{2})_{m+n}} \cdot \sum_{j=0}^n \, \binom{n}{j}^2 \, \frac{(1+m)_j \, (-2n)_j}{\{(-m-2n)_j\}^2} \, {}_3F_2 \begin{bmatrix} -j, -m, \, m+2n-j+1 \, ; \\ 2n-j+1, -m-j \, ; \end{bmatrix}.$$

Finally, equating (2.7) and (2.9), we obtain a transformation formula for the series involving  ${}_{3}F_{2}$ :

$$(2.10) \sum_{k=0}^{m} {m \choose k}^{2} \frac{(m+n+1)_{k}}{(-m-n)_{k}} {}_{3}F_{2} \begin{bmatrix} -n, -n, m+n+k+1 ; \\ 1, k-m-n ; \end{bmatrix}$$

$$= (-1)^{m+n} \frac{(2n+1)_{m} (m+n+1)_{n}}{(m+n)!}$$

$$\cdot \sum_{k=0}^{n} {n \choose k}^{2} \frac{(m+1)_{k} (-2n)_{k}}{\{(-m-2n)_{k}\}^{2}} {}_{3}F_{2} \begin{bmatrix} -k, -m, m+2n-k+1 ; \\ 2n-k+1, -m-k ; \end{bmatrix}$$

$$(m, n \in \mathbb{N}_{0}).$$

## 3. FINITE SERIES INVOLVING BINOMIAL COEFFICIENTS

By applying Leibniz's rule for differentiation to (2.2), we get

(3.1) 
$$P_n(x) = \sum_{k=0}^n \binom{n}{k}^2 \left(\frac{x-1}{2}\right)^{n-k} \left(\frac{x+1}{2}\right)^k.$$

The following integral

(3.2) 
$$\int_{-1}^{1} (1+x)^{\alpha-1} (1-x)^{\beta-1} dx = 2^{\alpha+\beta-1} B(\alpha, \beta) \quad (\Re(\alpha) > 0; \Re(\beta) > 0)$$

can be evaluated by setting x = 2t - 1 and using the definition (1.5) of  $B(\alpha, \beta)$ .

From the definition of  $P_n(x)$  in (1.17), we have

$$(1 - 2xt + t^2)^{-\frac{1}{2}} = [(1 - t)^2 - 2t(x - 1)]^{-\frac{1}{2}}$$
$$= (1 - t)^{-1} \left[1 - \frac{2t(x - 1)}{(1 - t)^2}\right]^{-\frac{1}{2}},$$

which, upon employing the binomial theorem:

(3.3) 
$$(1-z)^{-\alpha} = \sum_{k=0}^{\infty} \frac{(\alpha)_k}{k!} z^k \quad (|z| < 1; \, \alpha \in \mathbb{C}),$$

yields

(3.4) 
$$\sum_{n=0}^{\infty} P_n(x) t^n = \sum_{k=0}^{\infty} \frac{(\frac{1}{2})_k 2^k t^k (x-1)^k}{k! (1-t)^{2k+1}} = \sum_{n,k=0}^{\infty} \frac{(\frac{1}{2})_k (2k+1)_n 2^k (x-1)^k t^{n+k}}{k! n!}.$$

The last part of (3.4) can be written as follows:

$$\sum_{n=0}^{\infty} P_n(x) t^n = \sum_{n=0}^{\infty} \sum_{k=0}^{n} \frac{(-1)^k (-n)_k (n+1)_k (x-1)^k}{2^k (k!)^2} t^n,$$

which, upon equating the coefficients of  $t^n$ , gives

(3.5) 
$$P_n(x) = {}_2F_1 \begin{bmatrix} -n, n+1; \\ 1; \end{bmatrix}.$$

By using the definition (1.1) of  ${}_{p}F_{q}$  and (3.2), we obtain an integral formula involving  ${}_{p+1}F_{p}$ :

$$(3.6) \int_{-1}^{1} (1+x)^{\alpha-1} (1-x)^{\beta-1} \int_{-1}^{1} F_{p} \left[ \alpha_{1}, \dots, \alpha_{p+1}; \frac{1-x}{2} \right] dx$$

$$= 2^{\alpha+\beta-1} B(\alpha, \beta) \int_{-1}^{1} (1+x)^{\alpha-1} (1-x)^{\beta-1} \int_{-1}^{1} \frac{1-x}{\beta_{1}, \dots, \beta_{p}} dx$$

$$= 2^{\alpha+\beta-1} B(\alpha, \beta) \int_{-1}^{1} \frac{1-x}{\beta_{1}, \dots, \beta_{p}} dx$$

$$(p \in \mathbb{N}_{0}; \Re(\alpha) > 0; \Re(\beta) > 0),$$

which, upon setting p = 1,  $\alpha_1 = -n$ ,  $\alpha_2 = n + 1$ ,  $\beta_1 = 1$ , and considering (3.5), immediately yields (cf. Rainville [3, p. 184]):

(3.7) 
$$\int_{-1}^{1} (1+x)^{\alpha-1} (1-x)^{\beta-1} P_n(x) dx = 2^{\alpha-\beta-1} B(\alpha,\beta) {}_{3}F_{2} \begin{bmatrix} -n, n+1, \beta; \\ 1, \alpha+\beta; \end{bmatrix}$$

$$(n \in \mathbb{N}_{0}; \Re(\alpha) > 0; \Re(\beta) > 0).$$

On the other hand, similarly, upon applying the expression for  $P_n(x)$  in (3.1) to the integrand in (3.7), we obtain an identity associated with the binomial coefficients:

$$(3.8) \qquad \sum_{k=0}^{n} (-1)^{n-k} \binom{n}{k}^{2} \Gamma(\alpha+k) \Gamma(\beta+n-k)$$

$$= \Gamma(\alpha+\beta+n) B(\alpha,\beta) {}_{3}F_{2} \begin{bmatrix} -n, n+1, \beta; \\ 1, \alpha+\beta; \end{bmatrix}$$

$$(n \in \mathbb{N}_{0}; \Re(\alpha) > 0; \Re(\beta) > 0).$$

If we set  $\beta = 1$  in (3.8) and use the Gauss's summation theorem (cf. Slater [4, p. 243]):

$$(3.9) _2F_1\begin{bmatrix} a, b; \\ c; \end{bmatrix} = \frac{\Gamma(c)\Gamma(c-a-b)}{\Gamma(c-a)\Gamma(c-b)} (\Re(c-a-b) > 0; c \neq 0, -1, -2, \cdots),$$

we find that

(3.10) 
$$\sum_{k=0}^{n} (-1)^k \binom{n}{k}^2 (n-k)! (\alpha)_k = \frac{(-1)^n \Gamma(\alpha)}{\Gamma(\alpha-n)} \quad (n \in \mathbb{N}_0; \Re(\alpha) > 0).$$

The formula (3.10) can be seen to be a special case ( $b = \alpha$  and c = 1) of the following formula:

(3.11) 
$$\sum_{k=0}^{n} (-1)^{k} k! \binom{n}{k} \binom{-b}{k} \binom{-c}{k}^{-1} = \frac{(c-b)_{n}}{(c)_{n}}$$

$$(n \in \mathbb{N}_{0}; \Re(c-b) > -n; c \neq 0, -1, -2, \cdots),$$

which incidentally is equivalent to Chu (1303)-Vandermonde (1735-1796) convolution theorem (cf. Srivastava and Manocha [5, p. 31]):

(3.12) 
$$\sum_{k=0}^{n} {\lambda \choose k} {\mu \choose n-k} = {\lambda + \mu \choose n} \quad (n \in \mathbb{N}_0),$$

 $\lambda$  and  $\mu$  being any complex numbers.

The special case of (3.10) when  $\alpha = 1$  leads to the familiar identity involving binomial coefficients:

(3.13) 
$$\sum_{k=0}^{n} (-1)^k \binom{n}{k} = 0 \quad (n \in \mathbb{N}),$$

which is a special case of the binomial theorem:

(3.14) 
$$(x+y)^n = \sum_{k=0}^n \binom{n}{k} x^k y^{n-k} \quad (n \in \mathbb{N}_0).$$

The formula (3.10) can also be obtained by setting  $\alpha = 1$  in (3.8) and using Saalschütz's theorem (cf. Slater [4, p. 243]):

$$(3.15) _3F_2 \begin{bmatrix} -n, a, b; \\ c, d; \end{bmatrix} = \frac{(c-a)_n (c-b)_n}{(c)_n (c-a-b)_n} (c+d=a+b-n+1; n \in \mathbb{N}_0)$$

for  ${}_3F_2(a=n+1,\,b=\beta,\,{\rm and}\,\,c=1)$  in the resulting equation, with various identities in Section 1.

The special case of (3.8) when  $\alpha = 1$  and  $\beta = n + 1$ , similarly, yields an identity involving binomial coefficients:

(3.16) 
$$\sum_{k=0}^{n} (-1)^k \binom{n}{k} \frac{(n+1)_k}{k!} = (-1)^n \left\{ (n+2)_n \right\}^2 \quad (n \in \mathbb{N}_0).$$

We conclude this paper by presenting a transformation formula  $_3F_2$ , which is deducible from (3.8), in the sense of parameters:

$$(3.17) \quad {}_{3}F_{2}\begin{bmatrix} -n, -n, \alpha; \\ 1, 1-\beta-n; \end{bmatrix} = (-1)^{n} \frac{(\alpha+\beta)_{n}}{(\beta)_{n}} \, {}_{3}F_{2}\begin{bmatrix} -n, n+1, \beta; \\ 1, \alpha+\beta; \end{bmatrix}$$

$$(n \in \mathbb{N}_{0}; \Re(\alpha) > 0; \Re(\beta) > 0).$$

### REFERENCES

- W. N. Bailey: Transformations of well-poised hypergeometric series. Proc. London Math. Soc. (2) 36 (1934), 235–240.
- 2. E. G. C. Poole: Elementary evaluation of an integral. J. London Math. Soc. 7 (1932), 140.
- 3. E. D. Rainville: Special Functions. The Macmillan Company, New York, 1960. MR 21#6447
- L. J. Slater: Generalized Hypergeometric Functions. Cambridge University Press, London, 1966. MR 34#1570
- H. M. Srivastava and H. L. Manocha: A Treatise on Generating Functions, Ellis Horwood Series: Mathematics and its Applications. Ellis Horwood Ltd., Chichester; Halsted Press [John Wiley & Sons, Inc.], New York, 1984. MR 85m:33016
- 6. F. J. W. Whipple: Some transformations of generalized hypergeometric series. *Proc. London Math. Soc.* (2) **26** (1927), 257-272.

(K. Lee) Department of Mathematics, College of Natural Science, Pusan National University, Pusan 609-735, Korea

 $E\text{-}mail\ address{:}\ \mathtt{keumsik@yahoo.com}$ 

(Y. J. Cho) Department of Mathematics, College of Natural Science, Pusan National University, Pusan 609-735, Korea

 $E ext{-}mail\ address: jchoyj79@hanmail.net}$ 

(J. Choi)Department of Mathematics, College of Natural Science, Dongguk University, Gyeongju, Gyeongbuk 780-714, Korea

E-mail address: junesang@mail.dongguk.ac.kr